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’ 100kN/m%#%%5| 1.00| 000 ~ 280 144.20 [3mZiBZ 5 -~ — - —| 100kN/mi%#B2%| 1.00 [10.55 ~ 2495 14420 [3mZHBZ5 -~ - - -
Zhllis 1.00 ( 280 ~ 1058 100.00 | £hLlst | 0.00 ~ 10.58 | 2.67 13.47 zhlis 1.00 | 500 ~ 10.55 100.00 | ##Lklst | 5.00 ~ 2495 | 2.67 13.47
) 100kN/m#Z#8%%| 1.00(| 000 ~ 308 149.06 |3m%#8%%| 000 ~ 004 | 3.02 15.27 | 100kN/m#%#E%%| 1.00 [10.54 ~ 28.27 149.06 [3m%#825%(25.00 ~ 28.27 | 3.02 15.27
Zhiist 1.00 | 308 ~ 10.86 100.00 | ##4List | 0.04 ~ 10.86 | 3.00 15.16 Zhilst 1.00 | 500 ~ 10.54 100.00 | #h Ll | 5.00 ~ 25.00 | 3.00 15.16
3 100kN/m#Z#%%| 1.00| 000 ~ 337 15407 |3m%E#E 25| 000 ~ 022| 3.1 15.73 | 100kN/m#%#E%%| 1.00 [10.55 ~ 35.29 15407 [3m%#%5|25.00 ~ 35.29 | 3.11 15.73
Zh st 100 [ 337 ~ 1115 100.00 | #4LLlst | 022 ~ 11.15 | 3.00 15.16 Zhiist 100 | 500 ~ 10.55 100.00 | #hblst | 5.00 ~ 25.00 | 3.00 15.16
4 100kN/M%E#EZ % 1.00 ( 0.00 ~ 322 151.56 |3mZ#Ez2 5| 000 ~ 0.20 | 3.10 15.69 | 100kN/m#%#E%%| 1.00 |10.56 ~ 31.95 151.56 [3mZF##EZ5(30.00 ~ 31.95 ]| 3.10 15.69
Zh st 1.00 | 3.22 ~ 11.01 100.00 | #4kist | 020 ~ 11.01 | 3.00 15.16 Zhilst 100 | 500 ~ 10.56 100.00 | #hList | 5.00 ~ 30.00 | 3.00 15.16
5 100kN/M%Z#B % % - -~ - —|3mZiBZ D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
Zhiist 1.00| 000 ~ 7.68 98.47 | #hbist | 000 ~ 768 | 2.27 11.46 ZFhoelst 1.00 | 500 ~ 10.39 98.47 | #hblist | 500 ~ 1039 | 2.27 11.46
6 100kN/mZ#E%%| 100 000 ~ 295 146.76 |3m%#E % 5| 000 ~ 020 3.1 15.72 | 100kN/m#%#8%%| 1.00 [10.56 ~ 25.01 146.76 [3m%#8%5(25.00 ~ 2501 | 3.11 15.72
Zh st 100 295 ~ 10.73 100.00 | #4Llst | 020 ~ 10.73 | 3.00 15.16 Zhilst 100 | 500 ~ 10.56 100.00 | #hLlst | 5.00 ~ 25.00 | 3.00 15.16
. 100kN/m%#8x%| 100 000 ~ 281 14449 |3m%E#EZ5 -~ - - — | 100kN/i%i#E%% | 1.00 |10.56 ~ 25.34 144.49 |3m%EHBZ3 -~ - - .
Zhlisn 100 | 2.81 ~ 10.60 100.00 | #4klst | 0.00 ~ 10.60 [ 2.99 15.13 FhLst 1.00 | 500 ~ 10.56 100.00 | #hList | 5.00 ~ 2534 | 2.99 1513
8 100kN/m%#B %% 1.00 ( 0.00 ~ 197 130.39 |3m%Ei#BZ % _~ . - —| 100kN/m%#8%% | 1.00 |10.91 ~ 20.00 130.39 [3mZE#EZ D -~ - - -
Zhiist 1.00] 1.97 ~ 975 100.00 | #hklst | 000 ~ 975 255 12.91 Fhllst 1.00 | 5.00 ~ 1091 100.00 | #hLlst | 5.00 ~ 20.00 | 2.55 12.91
9 100kN/m%#%%| 100 000 ~ 250 139.21 |3m%#EZ% - ~ - - — | 100kN/i%#8%% | 1.00 |10.62 ~ 2272 139.21 |3m%E#BZ 5 -~ - - .
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0 100kN/m%#%x%| 1.00| 000 ~ 193 129.76 |3mZE#E x5 -~ - - — | 100kN/Mi%#%%| 1.00 |10.55 ~ 17.93 129.76 |3mE#EZ S -~ - - -
Zh s 1.00 193 ~ 9.71 100.00 | Zhblst | 000 ~ 971 2.34 11.82 ZhnLls 1.00 | 500 ~ 10.55 100.00 | ZhlLlst | 500 ~ 1793 | 2.34 11.82
» 100kN/mZ#%45| 100 000 ~ 219 134.04 [3mZi#BZ 5 -~ - - — | 100kN/i%#E%% | 1.00 |10.68 ~ 20.49 134.04 |3m%E#BZ 5 -~ - - -
ZhLisn 1.00 [ 219 ~ 998 100.00 | Zhklst | 000 ~ 9.98 | 2.61 13.18 ZhList 100 | 500 ~ 10.68 100.00 | Z#4LLlst | 5.00 ~ 2049 | 2.61 13.18
- 100kN/m#Z#E%%| 100 000 ~ 236 136.82 |3m%#EZ5 - ~ - - —| 100kN/miZ#8%%| 1.00 [10.69 ~ 22.00 136.82 |3mZ#BZ % -~ - - =
ZhList 100 | 236 ~ 10.14 100.00 | #Hklst | 0.00 ~ 10.14 | 2.60 13.16 ZhLst 100 | 500 ~ 10.69 100.00 | #hbList | 5.00 ~ 22.00 | 2.60 13.16
" 100kN/m%#%x%| 1.00| 000 ~ 263 141.40 |3mZE#E x5 - ~ - — — | 100kN/ %% % | 1.00 |10.60 ~ 22.00 141.40 |3mE#EZ S -~ - - =
ZhLst 1.00 [ 263 ~ 10.42 100.00 | #4Llst | 000 ~ 1042 | 2.78 14.07 Zhiist 100 | 500 ~ 10.60 100.00 | #hbList | 500 ~ 2200 | 2.78 14.07
" 100kN/mM%Z#B 2 % - -~ - —|3m%Ei#BZ5 -~ — - —| 100kN/m%#8% % - -~ - —|3mE#BZ5 -~ — — —
ZhLust - -~ - —| Ehiis -~ - - - Zhrst - -~ - —| £hrLis -~ - - =
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Zh st - — ~ — — | Ehlis - ~ - - - Zhilst - - ~ — —| £hList - ~ - - =
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(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
16 100kN/mM%Z#B 2 % - -~ - —|3mZiEZ D -~ - - — | 100kN/MZ#EZ % - -~ - —|3mZE#B2D -~ - - -
Zhllis 1.00( 0.00 ~ 595 7455 | Fhkist | 000 ~ 595| 1.80 9.09 Zhls 1.00 | 500 ~ 6.80 7455 | Fnklst | 5.00 ~ 6.80 | 1.80 9.09
7 100kN/m%#E%%5| 1.00| 000 ~ 085 112.65 |3mZi#BZ5 -~ - - —| 100kN/m%#8%%| 1.00 [11.03 ~ 14.00 112.65 [3mZ#BZ5 -~ - - -
Fh st 1.00| 085 ~ 8.63 100.00 | #htblst | 000 ~ 863 2.04 10.33 FnLs 1.00 ] 500 ~ 11.03 100.00 | ZHhllst | 500 ~ 14.00 | 2.04 10.33
18 100kN/mM%E#BZ % 1.00| 000 ~ 1.08 116.28 |3mZEHE 25 -~ — — —| 100kN/m%#E%%| 1.00 |10.57 ~ 14.00 116.28 |3m%E#B 25 -~ — — .
ZhLst 1.00| 1.08 ~ 887 100.00 | Zhlist | 000 ~ 887 | 2.14 10.84 ZhList 1.00 | 500 ~ 10.57 100.00 | Zhlist | 500 ~ 1400 | 2.14 10.84
19 100kN/M%ZH#EZ % - - ~ — —|3mZEHEZS -~ — — — | 100kN/M%#8Z% % - -~ — —|3mEEZS -~ - — —
Fhist - - ~ - — | Fhiis — ~ — — - Fhiis — -~ - —| #hLis -~ - — .
20 100kN/mM%Z#B % % - -~ - —|3mZiBZ D -~ - - —| 100kN/mM%Ei#BZ % - -~ - —|3mZE#BZD -~ - - -
Zhrst - - ~ - —| Fhst - ~ - - - ZhLst — - ~ - —| £hllst - ~ - - =
9y 100kN/MZ#8 %% - - ~ - —[3mE#EZS - ~ - - — | 100kN/ MZ#BZ % — -~ - —|3mE#EZS -~ - - .
ZhLs - -~ — —| #hList -~ = — — Zhlist - -~ — — | #hList -~ — — -
2 100kN/mM%Z#E2 % - -~ — —|3mZEEZ S -~ — — —| 100kN/M%#E 2% - -~ — —|3mEHEZS -~ - - -
Zh st — — ~ - —| Fhiist -~ — — - FhLst — -~ — —| EhList - ~ - - =
93 100kN/mM%Z#B % % - -~ - —|3mZEZD -~ - - —| 100kN/mM%E#E 2% - -~ - —|3mZE#BZD -~ - - -
Zhiist - -~ - —| Fhlist - ~ - - - Zhrist - - ~ - —| £hrLis -~ - - .
04 100kN/mMZ#2 %% - - ~ - —[3m%E#EZ S - ~ - - — | 100kN/ MZ#BZ % — -~ - —|3mE#EZS -~ - - .
FThilst - — ~ - — | Ehlis - ~ — — - Zhilst - -~ - —| EHLis -~ - - -
100kN/M%Z#E 2 % ~ 3mEREZD ~ 100kN/mMZH#8Z % ~ ImERZD ~
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100kN/M%Z#B 2 % ~ 3mEHZD ~ 100kN/M%ZH#BZ % ~ 3mZHBAD ~
Fhllst ~ Fhllst ~ Fhilst ~ zhhist ~
100kN/mMZ#8 %% ~ ImEFHEZD ~ 100kN/mM%Z#EZ % ~ 3ImEEAD ~
ZhList ~ Fhiisn ~ ZhLst ~ Fhkist ~
100kN/mM%Z#E 2 % ~ 3mEHEZD ~ 100kN/mMZ#BZ % ~ ImERZD ~
Zhis ~ Zhiist ~ Zhlis ~ ZThLlsh ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBAb ~
Fh st ~ Fhlist ~ Fhllst ~ Zhkist ~
100kN/ Mm% %% ~ ImEHEZD ~ 100kN/mMZ#2Z.% ~ 3ImEREZD ~
Zh st ~ Zhiisn ~ Zhilst ~ Lt ~




